Bid # 2016-004

			West Construction, Inc.		Foster Marine Contractors, Inc.		Lanzo		
Item No.	DESCRIPTION	UNIT	EST QUAN.	UNIT PRICE	EXTENDED COST	UNIT PRICE	EXTENDED COST	UNIT PRICE	EXTENDED COST
1	Mobilization	LS	1	\$73,000.00	\$73,000.00	\$70,000.00	\$70,000.00	\$91,000.00	\$91,000.00
2	Maintenance of Traffic	LS	1	\$27,950.00	\$27,950.00	\$15,000.00	\$15,000.00	\$35,000.00	\$35,000.00
3	As-Built Record Drawings	LS	1	\$29,553.00	\$29,553.00	\$16,000.00	\$16,000.00	\$71,000.00	\$71,000.00
4	NPDES Permit/ Erosion Control	LS	1	\$19,500.00	\$19,500.00	\$5,000.00	\$5,000.00	\$17,000.00	\$17,000.00
5	Indemnification	LS	1	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00
6	Project Identification Sign (2 Total)	EA	2	\$2,000.00	\$4,000.00	\$950.00	\$1,900.00	\$2,100.00	\$4,200.00
7	Clearing and Grubbing	LS	1	\$22,000.00	\$22,000.00	\$30,000.00	\$30,000.00	\$9,460.00	\$9,460.00
8	Crosswalks -12" Thermoplastic	LF	215	\$5.07	\$1,090.05	\$5.00	\$1,075.00	\$3.00	\$645.00
9	Stop Bars -24" Thermoplastic	LF	44	\$13.65	\$600.60	\$15.00	\$660.00	\$5.00	\$220.00
10	Mill Existing Asphalt Pavement (1"	SY	2,600	\$5.20	\$13,520.00	\$4.00	\$10,400.00	\$4.00	\$10,400.00
11	1" Asphaltic Concrete Type S-III	SY	2,600	\$9.75	\$25,350.00	\$8.00	\$20,800.00	\$10.00	\$26,000.00
12	5' Wide (4" thick) Concrete	LF	866	\$22.00	\$19,052.00	\$27.00	\$23,382.00	\$23.00	\$19,918.00
13	5' Wide (6" thick) Concrete	LF	592	\$26.00	\$15,392.00	\$36.00	\$21,312.00	\$37.00	\$21,904.00
14	Curb Ramp with Tactile Surface	EA	8	\$845.00	\$6,760.00	\$1,500.00	\$12,000.00	\$665.00	\$5,320.00
15	Directional Boring	LF	56	\$52.00	\$2,912.00	\$60.00	\$3,360.00	\$77.00	\$4,312.00
16	Open Cut Pavement Repair	SF	143	\$33.00	\$4,719.00	\$15.00	\$2,145.00	\$6.00	\$858.00
17	Type F Curb	LF	495	\$20.00	\$9,900.00	\$25.00	\$12,375.00	\$20.00	\$9,900.00
18	Concrete Inlet Apron	EA	6	\$455.00	\$2,730.00	\$850.00	\$5,100.00	\$350.00	\$2,100.00
19	Concrete Driveway Apron	SF	1,075	\$5.20	\$5,590.00	\$9.00	\$9,675.00	\$5.00	\$5,375.00
20	Swale Grading	SY	1,100	\$7.50	\$8,250.00	\$12.50	\$13,750.00	\$5.00	\$5,500.00
21	Commemorative Markers	EA	4	\$1,820.00	\$7,280.00	\$7,500.00	\$30,000.00	\$2,233.00	\$8,932.00
22	Commemorative Plaques	EA	5	\$6,500.00	\$32,500.00	\$2,500.00	\$12,500.00	\$7,430.00	\$37,150.00
23	Bollards	EA	4	\$1,560.00	\$6,240.00	\$1,700.00	\$6,800.00	\$945.00	\$3,780.00
24	OM4-1 End of Road Markers	EA	2	\$553.00	\$1,106.00	\$575.00	\$1,150.00	\$700.00	\$1,400.00
25	Replacement Fencing	LF	125	\$40.00	\$5,000.00	\$40.00	\$5,000.00	\$4.00	\$500.00
26	Irrigation System	LS	1	\$13,800.00	\$13,800.00	\$13,500.00	\$13,500.00	\$25,500.00	\$25,500.00
27	Jatropa Tree - 8' OA	EA	9	\$266.00	\$2,394.00	\$275.00	\$2,475.00	\$290.00	\$2,610.00
28	Spindle Palm - 12' OA	EA	14	\$572.00	\$8,008.00	\$550.00	\$7,700.00	\$510.00	\$7,140.00
29	Christmas Palm - 18' OA	EA	2	\$592.00	\$1,184.00	\$600.00	\$1,200.00	\$650.00	\$1,300.00
30	Green Island Ficus - 3 gal	EA	100	\$14.30	\$1,430.00	\$13.00	\$1,300.00	\$14.00	\$1,400.00
31	Dwarf Fakahatchee Grass - 3 gal	EA	88	\$14.30	\$1,258.40	\$13.00	\$1,144.00	\$13.00	\$1,144.00
32	Flax Lily - 1 gal	EA	886	\$7.80	\$6,910.80	\$7.50	\$6,645.00	\$6.00	\$5,316.00

Bid # 2016-004

			West Construction, Inc.		Foster Marine Contractors, Inc.		Lanzo		
Item			EST	UNIT	EXTENDED	UNIT	EXTENDED	UNIT	EXTENDED
	DESCRIPTION	UNIT	QUAN.	PRICE	COST	PRICE	COST	PRICE	COST
33	Society Garlic - 1 gal	EA	122	\$7.80	\$951.60	\$7.50	\$915.00	\$5.00	\$610.00
34	Planting Soil	CY	309	\$39.00	\$12,051.00	\$60.00	\$18,540.00	\$46.00	\$14,214.00
35	Mulch- 3" deep	CY	105	\$39.00	\$4,095.00	\$40.00	\$4,200.00	\$48.00	\$5,040.00
36	Clearing and Grubbing	LS	1	\$16,000.00	\$16,000.00	\$40,000.00	\$40,000.00	\$32,560.00	\$32,560.00
37	Remove Existing Driveway	SY	300	\$5.70	\$1,710.00	\$16.50	\$4,950.00	\$11.00	\$3,300.00
38	Remove Existing Sidewalk (Varying	SY	785	\$4.10	\$3,218.50	\$16.00	\$12,560.00	\$9.00	\$7,065.00
39	Remove Existing Pavement Section	SY	1,510	\$5.20	\$7,852.00	\$6.00	\$9,060.00	\$8.00	\$12,080.00
40	Remove Existing Curbing (Varying	LF	55	\$9.10	\$500.50	\$7.50	\$412.50	\$8.00	\$440.00
41	Remove Existing 2" Water Main	LF	465	\$6.60	\$3,069.00	\$8.00	\$3,720.00	\$6.00	\$2,790.00
42	Remove Existing 12"x18" RCP	LF	10	\$65.00	\$650.00	\$25.00	\$250.00	\$32.00	\$320.00
43	Remove Existing 18" RCP	LF	22	\$65.00	\$1,430.00	\$25.00	\$550.00	\$16.00	\$352.00
44	Regular Excavation	CY	2,300	\$4.00	\$9,200.00	\$10.00	\$23,000.00	\$6.00	\$13,800.00
45	Embankment	CY	80	\$7.80	\$624.00	\$5.00	\$400.00	\$7.00	\$560.00
46	Swale Regrading	SY	199	\$6.20	\$1,233.80	\$35.00	\$6,965.00	\$2.00	\$398.00
47	Mill Existing Asphalt Pavement (1"	SY	3,840	\$5.20	\$19,968.00	\$4.00	\$15,360.00	\$4.00	\$15,360.00
48	Asphalt Level & Overbuild	TN	90	\$221.00	\$19,890.00	\$190.00	\$17,100.00	\$250.00	\$22,500.00
49	1" Asphaltic Concrete Type S-III	YD	3,900	\$9.75	\$38,025.00	\$8.00	\$31,200.00	\$9.00	\$35,100.00
50	1-1/2" Asphaltic Concrete Type S-	YD	2,600	\$17.00	\$44,200.00	\$15.00	\$39,000.00	\$13.00	\$33,800.00
51	8" Limerock Base	SY	2,380	\$16.00	\$38,080.00	\$21.25	\$50,575.00	\$15.00	\$35,700.00
52	4" Limerock Curb Pad	SY	660	\$16.00	\$10,560.00	\$13.00	\$8,580.00	\$17.00	\$11,220.00
53	12" Stabilized Subgrade	SY	3,160	\$3.00	\$9,480.00	\$8.00	\$25,280.00	\$2.00	\$6,320.00
54	Type F Curb & Gutter	LF	900	\$19.50	\$17,550.00	\$25.00	\$22,500.00	\$19.00	\$17,100.00
55	Type D Curb	LF	525	\$19.50	\$10,237.50	\$25.00	\$13,125.00	\$18.00	\$9,450.00
56	12" Header Curb	LF	180	\$19.50	\$3,510.00	\$30.00	\$5,400.00	\$20.00	\$3,600.00
57	Valley Gutter	LF	975	\$17.00	\$16,575.00	\$25.00	\$24,375.00	\$17.00	\$16,575.00
58	Concrete Sidewalk (4" Thick)	SY	825	\$41.00	\$33,825.00	\$55.00	\$45,375.00	\$42.00	\$34,650.00
59	Concrete Sidewalk (6" Thick)	SY	2,710	\$47.00	\$127,370.00	\$60.00	\$162,600.00	\$48.00	\$130,080.00
60	6" Bollard w/ OM3-L & OM3-R	EΑ	9	\$780.00	\$7,020.00	\$2,200.00	\$19,800.00	\$980.00	\$8,820.00
61	Pavers, Architectural Roadway	SY	80	\$78.00	\$6,240.00	\$150.00	\$12,000.00	\$61.00	\$4,880.00
62	Adjust Sanitary Manhole to Grade	EΑ	4	\$780.00	\$3,120.00	\$750.00	\$3,000.00	\$411.00	\$1,644.00
63	Adjust Clean Out to Grade	EΑ	3	\$400.00	\$1,200.00	\$400.00	\$1,200.00	\$240.00	\$720.00
64	Adjust Valve Box to Grade	EA	9	\$520.00	\$4,680.00	\$300.00	\$2,700.00	\$300.00	\$2,700.00

Bid # 2016-004

			West Construction, Inc.		Foster Marine Contractors, Inc.		Lanzo		
Item No.	DESCRIPTION	UNIT	EST Quan.	UNIT PRICE	EXTENDED COST	UNIT PRICE	EXTENDED COST	UNIT PRICE	EXTENDED COST
65	Utility Pipe, F&I, PVC, Water, 6"	LF	10	\$78.00	\$780.00	\$48.00	\$480.00	\$230.00	\$2,300.00
66	Utility Pipe, F&I, PVC, Water, 8"	LF	340	\$52.00	\$17,680.00	\$50.00	\$17,000.00	\$32.00	\$10,880.00
67	Utility Fixture, F&I, DI, Elbow, 8"	EA	1	\$780.00	\$780.00	\$400.00	\$400.00	\$810.00	\$810.00
68	Utility Fixture, F&I, DI, 8"x6" Reduce	EA	1	\$845.00	\$845.00	\$400.00	\$400.00	\$750.00	\$750.00
69	Utility Fixture, F&I, Traffic Rated Me	EA	11	\$416.00	\$4,576.00	\$950.00	\$10,450.00	\$1,040.00	\$11,440.00
70	6"x6" Tapping Sleeve and Gate Val	EA	1	\$3,975.00	\$3,975.00	\$5,500.00	\$5,500.00	\$3,430.00	\$3,430.00
71	6" Gate Valve	EA	1	\$1,131.00	\$1,131.00	\$1,725.00	\$1,725.00	\$1,440.00	\$1,440.00
72	8"x8" Tapping Sleeve and Gate	EA	1	\$5,200.00	\$5,200.00	\$6,000.00	\$6,000.00	\$4,210.00	\$4,210.00
73	8" Gate Valve	EA	1	\$1,560.00	\$1,560.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
74	Bacteriological Sample Point	EA	1	\$910.00	\$910.00	\$450.00	\$450.00	\$620.00	\$620.00
75	Inlets, Ditch Bottom, Type C (<10')	EA	1	\$6,760.00	\$6,760.00	\$5,600.00	\$5,600.00	\$3,400.00	\$3,400.00
76	Inlets, Ditch Bottom, Type E (<10')	EA	1	\$6,760.00	\$6,760.00	\$8,000.00	\$8,000.00	\$4,800.00	\$4,800.00
77	Inlets, Valley Gutter Type P, 3.5'x3.	EA	2	\$8,450.00	\$16,900.00	\$5,600.00	\$11,200.00	\$4,700.00	\$9,400.00
78	Manhole, P-7, <10'	EA	2	\$6,500.00	\$13,000.00	\$9,000.00	\$18,000.00	\$4,770.00	\$9,540.00
79	15" RCP	LF	185	\$74.00	\$13,690.00	\$65.00	\$12,025.00	\$78.00	\$14,430.00
80	18" RCP	LF	546	\$81.00	\$44,226.00	\$70.00	\$38,220.00	\$103.00	\$56,238.00
81	12"x18" RCP	LF	10	\$78.00	\$780.00	\$185.00	\$1,850.00	\$308.00	\$3,080.00
82	Exfiltration Trench	LF	150	\$130.00	\$19,500.00	\$140.00	\$21,000.00	\$160.00	\$24,000.00
83	Striping and Signage	LS	1	\$29,478.00	\$29,478.00	\$29,000.00	\$29,000.00	\$39,800.00	\$39,800.00
84	Carpenteria acuminata (15 Gal)	EA	6	\$436.00	\$2,616.00	\$420.00	\$2,520.00	\$500.00	\$3,000.00
85	Hyophorbe vershaffeltii (Spindle Pa	EA	6	\$566.00	\$3,396.00	\$540.00	\$3,240.00	\$1,120.00	\$6,720.00
86	Ilex x attenuata `East Palatka` (E. P	EA	6	\$528.00	\$3,168.00	\$500.00	\$3,000.00	\$730.00	\$4,380.00
87	Lagerstroemia indica (Crape Myrtle	EA	27	\$723.00	\$19,521.00	\$675.00	\$18,225.00	\$1,380.00	\$37,260.00
88	Quercus virginiana (Southern Live (EA	17	\$1,086.00	\$18,462.00	\$1,000.00	\$17,000.00	\$1,980.00	\$33,660.00
89	Eugenia foetida (Spanish Stopper) :	EA	70	\$36.00	\$2,520.00	\$35.00	\$2,450.00	\$16.00	\$1,120.00
90	Jasmine volubile (Wax Jasmine) 3 (EA	25	\$20.80	\$520.00	\$20.00	\$500.00	\$13.00	\$325.00
91	Dianella tasmanica `Var.`	EA	1,767	\$13.00	\$22,971.00	\$12.00	\$21,204.00	\$6.00	\$10,602.00
92	Paspalum notatum (Bahia Grass), \$	SF	12,955	\$0.33	\$4,275.15	\$0.80	\$10,364.00	\$0.40	\$5,182.00
93	Stenotaphrum secundatum	SF	7,851	\$0.46	\$3,611.46	\$0.96	\$7,536.96	\$0.50	\$3,925.50
94	Tree and Palm Removal	LS	1	\$8,775.00	\$8,775.00	\$6,000.00	\$6,000.00	\$13,800.00	\$13,800.00
95	Palm Relocation	LS	1	\$200.00	\$200.00	\$150.00	\$150.00	\$570.00	\$570.00
96	Tree Canopy Pruning	LS	1	\$1,235.00	\$1,235.00	\$1,500.00	\$1,500.00	\$3,800.00	\$3,800.00

Bid # 2016-004

			West Construction, Inc.		Foster Marine Contractors, Inc.		Lanzo	
DESCRIPTION	UNIT	EST QUAN.	UNIT PRICE	EXTENDED COST	UNIT PRICE	EXTENDED COST	UNIT PRICE	EXTENDED COST
Planting Area Excavation	CY	477	\$17.00	\$8,109.00	\$20.00	\$9,540.00	\$4.00	\$1,908.00
Backfill Material	CY	620	\$39.00	\$24,180.00	\$60.00	\$37,200.00	\$46.00	\$28,520.00
Tree Staking	EA	62	\$7.80	\$483.60	\$10.00	\$620.00	\$1.00	\$62.00
Fertilizer	Case	3	\$228.00	\$684.00	\$250.00	\$750.00	\$170.00	\$510.00
Rootbarrier	LF	1,798	\$17.00	\$30,566.00	\$16.00	\$28,768.00	\$20.00	\$35,960.00
Root Pruning	LF	283	\$26.00	\$7,358.00	\$25.00	\$7,075.00	\$21.00	\$5,943.00
Floramulch	CY	28	\$104.00	\$2,912.00	\$60.00	\$1,680.00	\$48.00	\$1,344.00
Irrigation Reclaim Water POC	LS	1	\$3,900.00	\$3,900.00	\$4,000.00	\$4,000.00	\$3,700.00	\$3,700.00
Irrigation System	LS	1	\$42,647.00	\$42,647.00	\$40,000.00	\$40,000.00	\$63,500.00	\$63,500.00
20' High - 100 Watt X 2 LED	EA	4	\$4,550.00	\$18,200.00	\$10,800.00	\$43,200.00	\$14,000.00	\$56,000.00
20' High - 100 Watt LED	EA	4	\$4,290.00	\$17,160.00	\$7,200.00	\$28,800.00	\$9,200.00	\$36,800.00
Pull Boxes	EA	5	\$130.00	\$650.00	\$550.00	\$2,750.00	\$10,100.00	\$50,500.00
Electrical System (Complete)	LS	1	\$83,200.00	\$83,200.00	\$33,000.00	\$33,000.00	\$212,700.00	\$212,700.00
Professional Video Allowance	LS	1	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00
Unforeseen Conditions Allowance	LS	1	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00
			**	\$1,450,956.96		\$1,586,423.46		\$1,822,401.50
	Planting Area Excavation Backfill Material Tree Staking Fertilizer Rootbarrier Root Pruning Floramulch Irrigation Reclaim Water POC Irrigation System 20' High - 100 Watt X 2 LED 20' High - 100 Watt LED Pull Boxes Electrical System (Complete) Professional Video Allowance	Planting Area Excavation Backfill Material CY Tree Staking EA Fertilizer Rootbarrier LF Root Pruning Floramulch CY Irrigation Reclaim Water POC LS Irrigation System LS 20' High - 100 Watt X 2 LED EA 20' High - 100 Watt LED EA Pull Boxes EA Electrical System (Complete) LS Unforeseen Conditions Allowance LS	Planting Area Excavation CY 477 Backfill Material CY 620 Tree Staking EA 62 Fertilizer Case 3 Rootbarrier LF 1,798 Root Pruning LF 283 Floramulch CY 28 Irrigation Reclaim Water POC LS 1 Irrigation System LS 1 20' High - 100 Watt X 2 LED EA 4 20' High - 100 Watt LED EA 4 Pull Boxes EA 5 Electrical System (Complete) LS 1 Unforeseen Conditions Allowance LS 1 Unforeseen Conditions Allowance LS 1	DESCRIPTION UNIT EST QUAN. UNIT PRICE Planting Area Excavation CY 477 \$17.00 Backfill Material CY 620 \$39.00 Tree Staking EA 62 \$7.80 Fertilizer Case 3 \$228.00 Rootbarrier LF 1,798 \$17.00 Root Pruning LF 283 \$26.00 Floramulch CY 28 \$104.00 Irrigation Reclaim Water POC LS 1 \$3,900.00 Irrigation System LS 1 \$42,647.00 20' High - 100 Watt X 2 LED EA 4 \$4,550.00 20' High - 100 Watt LED EA 4 \$4,290.00 Pull Boxes EA 5 \$130.00 Electrical System (Complete) LS 1 \$83,200.00 Professional Video Allowance LS 1 \$75,000.00 Unforeseen Conditions Allowance LS 1 \$75,000.00	DESCRIPTION UNIT QUAN. EST QUAN. UNIT PRICE EXTENDED COST Planting Area Excavation CY 477 \$17.00 \$8,109.00 Backfill Material CY 620 \$39.00 \$24,180.00 Tree Staking EA 62 \$7.80 \$483.60 Fertilizer Case 3 \$228.00 \$684.00 Rootbarrier LF 1,798 \$17.00 \$30,566.00 Root Pruning LF 283 \$26.00 \$7,358.00 Floramulch CY 28 \$104.00 \$2,912.00 Irrigation Reclaim Water POC LS 1 \$3,900.00 \$3,900.00 Irrigation System LS 1 \$42,647.00 \$42,647.00 20' High - 100 Watt X 2 LED EA 4 \$4,550.00 \$18,200.00 20' High - 100 Watt LED EA 4 \$4,290.00 \$17,160.00 Pull Boxes EA 5 \$130.00 \$650.00 Electrical System (Complete) LS 1 \$3,000.00 \$3,000.00 Unforeseen Conditions Allowance LS 1 \$75,000.00 \$75,000.00	DESCRIPTION	DESCRIPTION	DESCRIPTION

Number that was corrected due to error in bid